O I8 Zo] & &
AD, BC 9] dFAe] wH
S P & 8t&. /ACB =
20°, /,CBD = 50° ¥ o], /P
o] A71& stof=t (&, &
= A=

c} -
=

[ 2
> =g 30

/ACB = /ADB = 20°, /PDB+x = 50° ¢]22 x = 30° o|t}.




2. oFS IelA L o] 2712 Fobelat,

L
o

N\
5.0ptCD 9] Y957} /CAD = /DBC = 15°
. ABPC ollA zx = 15° + 35° = 50°




o 193 22 910 oA LADC = 42° &
o, ,ABD ©] 37]& #oFH?

A

@ 42° @ 44 ° @ 46 °
@)48° ® 50°

.
5.0ptAC o] Y7t

/ADC = /ABC = 42°
(CBD = 90°0]|2.2

. LABD =90° —42° = 48°




4.

& a4 COD = x°,
VN N -

5.0ptAC = 5.0ptCD 2t &t uf,

x 0 A7|=9 A

@ 58° @ 62° @ 68° @)72° ® 76°

s N\ — -
5.0ptAC = 5.0ptCD ©|B2 F Sof thet 57t 9S4z}
A7) 2
L x°=36°x2="12°




o IHANA zx+ 2y O] 717

1
x:68><§:34 Sox = 34°

x:17=34:17=12:y . .y=6
Solx+ Ly =3446 =40°




6. the 199l DABCD = o] sk Aztgolth. x4 2y ] G
a7

@® 200° @ 210° @ 220° (@)230° ® 240°

£x = 180° — 60° = 120°
Ly = 110°
" Lx+ Ly =120° + 110° = 230°




thS 183} o] 27ty ABCDE 7 ¢
O of A3k LA =85°, /D =150° ¥ A/_\E

o, /BOC 9] Z7]=?

® 90° @ 100° @ 140°
®)110° ® 120°

ABeD A AES 10H

(EDB = 95° ]2 /BDC = 150° — 95° = 55°
(BOC = /BDC 9] FA|Zto|E 2
- /BOC = 55°x 2 = 110°




8. & 1A DBP =55 2 f, LCAP ©] 27]&?

@® 85° @ 95° ® 105° @ 115° B&)125°

/PQC = (PBD = 55°
LCAP + /PQC = 180°
-~ LCAP = 180° - 55° = 125°




o2 2golA H A, BE 90 9
Hst= HA-olal /ACB = 60° ¢

o, ZAPB 9] Z7]& +stoi et

VAR 4
0x
i

60 °

B ~
A, BolA 99 4 Ol o2 A& 19 OBP =
LOAP = 90° o]t}

TS /AOB =2 x £C =2x60° =120° °|t}.

. x=360°-90°-90°-120°=60°




10. o2 I9EofA sx o 27]E 5t
H?

1

@ 20° @ 29° @ 24°

A

(DBP = /DAC = /x, /ACB = x + 30°
ABEC ©f|A] x 4+ x + 30° = 74°

2x = 44°

oLx = 22°




| 2
> ™g: 5°

S5 \

/ACD =x 2t 5l'H & AD 9] 95292 /ABD = x

A7+ ABP 9] 2]7to] Ao &Jsto] /CAB = x + 30°
/N /N N\

5.0ptAC : 5.0ptBC : 5.0ptBD =1:0.5:1 0|2 &

(ABC = /DCB = 2x + 60°

249 ABC oflA WZHo] o2 180° 0|2 &2

(x4 30°) + (x + 2x + 60°) + (2x + 60°) = 180°

6x + 150° = 180°

x=5°

.. LACD = 5°




12. o= 299 22 2 O ollA 2x+ 2y 9
717

D 200° @210° @ 220°

@ 230° ® 240°

B

5.0ptAE o] thste] /ADE — /ABE ©|B.2 /ABE = 30°
§W, AABF 9|A] /x = ZABF + /BAF = 30° + 70° = 100°
T3t oABCD oA tizte] o2 180° o] B2

£y =180°—70° = 110°

So4x+ Ly =100°+4110° = 210°




13. o= 2™oA sx o 2712 82 A2

O 11° @ 12° ® 13° @ 14° ®)15°

/BAD + /C = 180° °|B.&2
/BAD =95°
/x = /ADB = 180° — 70° — 95° = 15°




L
o

>
> ®E: 360°

i)

~&B

293 2ol B 9 E & AFsH
/BCD + /DEB = 180°, /BEF + /BAF = 180°
LA+ £C + /E = 180° + 180° = 360°




15. thg3} 2ol = A, O €0 ¢ FH oletil Flth. LEAB+ /BCF
o 27)% gntelzty

®ac @4 @ @1 ® 500

~&B

ABSADE AZstH
(EAB = /ADB

(BCF = /BDC

.. .EAB + /BCF = /ADC
OABCD 7} ¥of YHst2=
/ADC = 180° — 132° = 48°
.. /EAB + /BCF = 48°




16. o2 I9oA PQ &= F 90, 0 9] F&dolth /ABQ = 86° ¥
o, /DCQ 9] Z7]=?

@®© 714° @ 80° @ 84° @ 90° 3)94°

(ABQ = /DPQ = 86°
(DCQ+ 86° = 180°
. /DCQ = 94°




17. thgelA 42

ABC 9] o] gt d P & Fot ol o= A
ABPC & 95211

st of, /BPC o] 7|2 HiE A9

@1000 @ 101° ® 102° @ 103° ® 104°

/A =180° - 65° — 35° = 80°
OABPC 4] A + /BPC = 180°
.. /BPC = 180° — 80° = 100°




18. Y9 54 O oA AC o] & 419 ¥F& P, OP 9 g4 ¢
0 7} = AL D g 5kt £ODC = 58° ¢ o, LABC ¢ 37|12

Fatolzt,
L7
A 9!
\

L
o

[ 2
> Hehl o640

~&B \

OD =0C 0|2 &
/0OCD = /ODC = 58°
- /DOC = 180° — 58°x2 = 64°

(ABC = %ZAOC

= % x 2/DOC
= 64°




iy

\VARR 4
X
i

48 °

o

/BAD = 90°,
42° =48°
/x = /CAD = 48°

L(CAD = 90° — A




20. o5 JHd H P = F
AB, CD 9] &7/ e] wxo]
(APC = 36°, /BQD = 78°
o), /1x & 27]=2

e R orel

@21° @ 22° @ 23°
@ 24° ©® 25°

S5 )
5.0ptAC of Tt 9Fzto| oz

/ABC = /ADC = zx

ABPCO) A

/QCD = 36° + /x

AQCDOIIA

/QCD + /QDC = 78°

36°+ Lx+ Lx =T8°

L /x=21°




P N

21. 2 2ol A 5.0ptED = 5.0ptDC ©]
1, /DBC = a°, /DAB = b° & W, x
o] F2?

® a°+b° @ 180-a®
(3)180 - b° @ 90 +a°
® 90+ b°

R VY
5.0ptED = 5.0ptDC ©]2& /EAD = /DBC = a° °]1
WA+ ABCE ol|A] /EAB =a°+b°
StH, /EAB 9] iz /BCE = 180° — (a°+ b°) ©|t}.
w2t zx = /DBC+/BCE = a°+180°—(a°+b°) = 180°—b°
. x=180-b°




22,

oS 2389 9o A A
5.0pt24. 88Ptoas o Zoj= @ y

eS| g o1 5.0pt24.88ptﬁ)\c

ggo]%%égg%ﬂ,eryﬂ E D
A& ot

v
n
o

(BCD = §><180° =108° O|E& y° = 180°-108° = 72°
y="72°
(ABC = g X 180° = 100° |22

x°=100° .. x=100°
whEhA] x +y =100 + 72 = 172°°]t},




23. o2 194 DO = ﬁ/}jl, E
ADEQ_\: 30° € o, 5.0ptCD 2}
5.0ptBD 2] H|=?

@32 @3:4 @)1 @31 ©4:1

B

/\ A
5.0ptCD = 5.0ptBD = 60°:30° =2: 1




24. TS I Y F A, B, P, Q=7

25° 4 o, LZARB °| A7]& Fof
#?

@ 25° @30° ® 35°
@ 40°  ©® 45°

YA A B P, Q7 A gomg
LAPB = /AQB =55°
ABQROIA /ARB = 55° - 25° = 30°




25. 2 194 /BAE = 60° /ECD = 70° € uf], cABCD 7} o]
Y4357 93t /BEC 9] A7|E F35loizet.

>
> &bl 130°

/(BAC = /BDC = 60°
/x = 60° + 70° = 130°




